—AH, 1
In Pvap = vap (—) +1n ﬁ

R T
Py _ ZAHvap (1 1
1nP1_ R (TZ Tl)
q = mcAT

AHsoln = AHsolute + AHsolvent + AHmix
Sgas = kHPgas

_ mol solute
" Lsolution
mol solute

m= kg solvent

mol solute

X= mol solute + mol solvent

mass solute
mass % = —— X 100%
mass solution

mass solute 6

m=———X
PP mass solution
mass solute 9
ppb=———-——X
mass solution

_ o
Psoln = Xsolvent! solvent

AP = XsolutePsolvent
AT¢ = imK;

AT, = imK,

Il =iMRT

[A]e= -kt + [A]o

In[A]c=-kt+In[Alo or Init=_t

[Alo
1 _ kt+ !

[A], [Alo
_[Alo
ti2 = k.
In2
b2 =0
- 1

Y2 " kAl

K, =1 x 107 at 25°C
pH = —log[H507]

pOH = —log[OH]

pH +pOH =pAw

CHE107 Exam Equation Sheet

[H3 0+] equilibrium

X 100%
[HAinitial

% ionization =

K, x K, = K,
pK, = _10gKa
pK, + pK;, = pKy,

[base]
[acid]

_ AHsystem
ASsurroundings - = T

pH = pK, + log

AG = AH — TAS
AS{yn = In,S°(products) — Xn,.S°(reactants)
AH{y, = EZn,AH¢ (products) — Zn, AHg (reactants)

AGryn = Zn,AGy (products) — Zn, AGg (reactants)

k = Ae~Fa/RT
k, E,/1 1
-5

Kp = KC(RT)M

—b + Vb2 — 4ac
X=—
2a

AGpyn = AGSyp + RTINQ
AGS, = —RTInK
Ecen = Ecathode — Eanode

or Elg =E;—E:

or  Elen = Egxidation t Ereduction

AG° = —nFEgeH

AG = —nFEce“

. RT
Ecell = ﬁ InK

00592V
or Ely, =———IlogK
n
00257V
or Eig = Tan
. T
Ecen = Ecen — ﬁ InQ
. 0.0592V
or Ecey = Ecen — TlogQ
. 0.0257V
or Ecep = Ecep — TIHQ



